— SCANIA

Truck'and Bus

SISE:
i _y | SCANIA

|

7 - rFlL=
74CBMO011.pdf

i
v -
————

.

=
o
x
—
~
L

2 REIRIDE:

-, pragir=as TR e 07/2006

BN 5 NCBEDS

¥ i /'/

[\ Y 7 |

P N /_V/ = o
I I s - ol ) ’ /' \ L _/
.Ur- . :Jla:_l /// ._

& (i G 42 4

2006 LA
EURORICAMBI manufactures ‘ -
replacement gears and bevel | ///

gears & pinions suitable to S O Br

gearboxes and differentials of e

SNoUX

several marks of vehicles, such
ponents

as: DAF, EATON, FULLER-,.FORD, Synchropi

Options

ONLY FOR CD-ROM CATALOGUES

- %}

@9%
Zoom “Page c
Group | | Back || | Select prnt || | oo | dalogue |




SYNCHRONIZERS
SINCRONIZZATORI

74530021 244 991

Fig. Our No. Part No. TP Description Q.ty Fig. Our No. Part No. TP Description Q.ty
1 74530003 264895  Synchronizer cone 2 1 74530003 264895  Synchronizer cone 1
2 74530004 194755 Sliding Sleeve 1 2 74530004 194755 Sliding Sleeve 1
3 74530009 244967  Screw M6X48 4 3 74530023 244965  Synchronizer cone 1
4 74530104 332613  Shift Stop 4 4 74530009 244967  Screw M6X48 4
5 74530007 214807  Stop pin 4 5 74530104 332613  Shift Stop 4
6 74530006 214119  Spring 4 6 74530007 214807  Stop pin 4
7 74530008 234324  Plug 4 7 74530006 214119  Spring 4

Models: G760/ GS760/G761/G764/G 770/ 8 74530008 234324 Plug 4

GS770/GS771/G772/GS 772/ G773/
g; Z;(/) ?2;;48/7(? /Zg/ss(l)?ﬁﬁgés I;I;O?_G/O / Models: GR 860 / GRE 860 / GR 870 / GRE 870/
GR 871/GR871T/GRES871T GR 870T / GRE 870T
Note: 74530004 containing 4 pcs. of 74530008 Note: 74530004 containing 4 pcs. of 74530008
332 613 74530104 replaces 244 954 74530005 332 613 74530104 replaces 244 954 74530005
74530061 328 117 74530062 330 192
1 1

Fig. Our No. Part No. TP Description Q.ty Fig. Our No. Part No. TP Description Q.ty
1 74530097 325215 Synchronizer cone 2 1 74530097 325215 Synchronizer cone 1
2 74530098 328118 Sliding Sleeve 1 2 74530096 325108 Sliding Sleeve 1
3 74530009 244967 Screw M6X48 4 3 74530023 244965 Synchronizer cone 1
4 74530100 325109 Shift Stop 4 4 74530009 244967 Screw M6X48 4
5 74530101 328 086 Stop pin 4 5 74530100 325109 Shift Stop 4
6 74530006 214119 Spring 4 6 74530101 328086 Stop pin 4
7 74530008 234324 Plug 4 7 74530006 214119 Spring 4

Models: G770/ GS 770/ GS 771/ GS 772/ GH 774/ 8 74530008 234 324 Plug 4

G776/G777/GR870/GRE 870/ GR 870T/
GRES870T

Note: 74530098 containing 4 pcs. of 74530008
154

Models: GR 870/ GRE 870/ GR 870T / GRE 870T
Note: 74530096 containing 4 pcs. of 74530008

Our Parts are not original but perfectly interchangeable with the O.E.M ones.
All original equipment manufacturers’ names, numbers, symbols and
descriptions used in this catalogue are for reference purposes only.

Tutti

i nostri particolari non sono originali ma con essi intercambiabili.

Tutti i riferimenti dei costruttori originali sono usati a semplice titolo indicativo.



Synchronizer Components =
Synchronizer Components <

74530095 338 706

74530164 353 041

Fig. Our No. Part No. TP Description Q.ty Fig. Our No. Part No. TP Description Q.ty
1 74530097 325215 Synchronizer cone 1 1 74530003 264 895 Synchronizer cone 1
2 74530096 325108 Sliding Sleeve 1 2 74530179 353 043 nss Sliding Sleeve 1
3 74530103 338232 Synchronizer cone 1 3 74530023 244 965 Synchronizer cone 1
4 74530009 244967 Screw M6X48 4 4 74530009 244 967 Screw M6X48 4
5 74530100 325109 Shift Stop 4 5 74530104 332613 Shift Stop 4
6 74530101 328 086 Stop pin 4 6 74530007 214 807 Stop pin 4
7 74530006 214119 Spring 4 7 74530006 214119 Spring 4
8 74530008 234 324 Plug 4 8 74530008 234 324 Plug 4

Models: GR 871/GR871T/GRE 871T

Note:

74530165

325 107

74530096 containing 4 pcs. of 74530008

Models: G776
Note: 74530179 containing 4 pcs. of 74530008
332 613 74530104 replaces 244 954 74530005

74530206 333 906

Fig. Our No. Part No. TP Description Q.ty Fig. Our No. Part No. TP Description Q.ty
1 74530097 325215 Synchronizer cone 1 1 74530097 325215 Synchronizer cone 2
2 74530096 325108 Sliding Sleeve 1 2 74530174 351227 Sliding Sleeve 1
3 74530023 244965 Synchronizer cone 1 3 74530009 244967 Synchronizer cone 4
4 74530009 244 967 Screw M6X48 4 4 74530104 332613 Screw M6X48 4
5 74530100 325109 Shift Stop 4 5 74530175 324 238 Shift Stop 4
6 74530177 325110 Stop pin 4 6 74530176 324 243 Stop pin 4
7 74530178 244969 Spring 4 7 74530008 234 324 Plug 4
8 74530008 234 324 Plug 4

Models: G776/G 777 Models: GS771/GS772

Note: 74530096 containing 4 pcs. of 74530008 Note: 74530174 containing 4 pcs. of 74530008

332 613 74530104 replaces 244 954 74530005 155

Our Parts are not original but perfectly interchangeable with the O.E.M ones.
All original equipment manufacturers’ names, numbers, symbols and
descriptions used in this catalogue are for reference purposes only.
Tutti i nostri particolari non sono originali ma con essi intercambiabili.
Tutti i riferimenti dei costruttori originali sono usati a semplice titolo indicativo.



SYNCHRONIZERS
SINCRONIZZATORI

156

Fig. OurNo. PartNo.TP Description Qty

1 74530030 184 492  Lock Ring

2 74530014 184 490  Disk Housing

3 74530044 325 114  Outer Disk bimetallik
4 74530018 194 429  Inner Disk

5 74530019 264 125  Screw M8X16 1
6 74530033 254 333  Pressure Plate
7 74530027 803 414  Pin

8 74530026 264 120  Shift Stop

9 74530025 244 995  Stop Pin

10 74530024 254 775  Thrust spring

11 74530029 244 620  Shifting Sleeve
12 74530028 811 753Nss Pin 4x30

o (o |IN| >

(o]

N[ =N N[ (N

Models: GR 860 / GRE 860/ GR 870/ GRE 870 / GR
870T/GRE870T/GR871/GR871T/GRE
871T/GR880/GR 880T/GRH 880

Note: 74530027 Not included in the Synchronizer

assy

Our Parts are not original but perfectly interchangeable with the O.E.M ones.
All original equipment manufacturers’ names, numbers, symbols and
descriptions used in this catalogue are for reference purposes only.
Tutti i nostri particolari non sono originali ma con essi intercambiabili.
Tutti i riferimenti dei costruttori originali sono usati a semplice titolo indicativo.



